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FA ASEAD
=S e BT
el FAHEZENA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 61,879,200
[ 3,343,000
Il 180,000
== 7,112,865
F=HSN 67,861,903 65,788,642 2,073,261
= 61,562,000
< 6,299,903
308 AXIMSOIA 67,861,903 65,788,642 2,073,261
= 61,562,000
= 6,299,903
01 X HHNBAEXS 67,861,903 65,788,642 2,073,261
FAHSHAE 67,861,903
= 61,562,000
= 6,299,903
ZHOHQ! FENONE XIRAHY 286,520 356,720 270,200
= 220,400
== 66,120
403 MR HHMSAH=01H 286,520 356,720 270,200
= 220,400
< 66,120
01 A= 2L 286,520 356,720 A70,200
OFOMH! =EIHX XIZ A 286,520
= 220,400
= 66,120
nET == F=HEE HEALE 174,300 175,200 A900
403 TR SHMSAH=01H 174,300 175,200 A900
01 AR A =2 £ 174,300 175,200 2900
Ot =8 F=H&E Ho 174,300
ANl R I8 E 42,500 42,500 0
402 2I2F X201 & 42,500 42,500
01 QI XHZ AL E R (KEHITHE) 42,500 42,500
OAtgel g3DIAME X3 42,500
CEESSUFE AIZHH 216,000 228,000 212,000
Il 180,000
= 36,000
403 AXIEHHSAH=201H 216,000 228,000 A12,000
Jl 180,000
= 36,000
01 AR A =2 £ 216,000 228,000 A12,000
Ok ZSZUU=8 AlZHH 216,000
Il 180,000
== 36,000
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=S e BT
el FAHEZENA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FATIAME(Z Al 3,754,542 4,647,500 A892,958
= 3,343,000
== 411,542
403 MR HHMSAHE01H 3,754,542 4,647,500 892,958
= 3,343,000
< 411,542
01 A= 2L 3,754,542 4,647,500 A892,958
OMEDIS &8 MHE (M) 524,000
[ 464,000
= 60,000
OME0tS &3 Hfa (=4t 923,200
= 818,000
=S 105,200
OMEDtS &3 HE(EY) 1,486,485
= 1,317,000
& 169,485
OME0IS &8 HA(0llat) 820,857
[ 744,000
= 76,857
S22 NSHED| £X 35,700 35,700
403 X SHHMSAH=01H 35,700 35,700
01 AXISHHA =2 £ 35,700 35,700
O=24=22 NSHHDI &X 35,700
FHFAAS FHae N 50,000 0 50,000
= 50,000
308 XXM SOIH 50,000 0 50,000
= 50,000
01 HAHHBSEXRS 50,000 0 50,000
OFHALXAES FHae N 50,000
= 50,000
OIAHHl XIE A 93,600 0 93,600
= 46,800
= 46,800
307 @I2t01 & 93,600 0 93,600
= 46,800
= 46,800
02 2B HAHE L 93,600 0 93,600
OO0IAHHI XIE At 93,600
= 46,800
s 46,800
CAITH 90,236,838 77,413,638 12,823,200
[ 75,172,000
= 15,064,838
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FA AFZ AL
HEM: CAITHA
el TAITHA (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SAITH A 89,636,838 77,413,638 12,223,200
= 75,172,000
== 14,464,838
AR RS 29 10,838 10,838 0
201 fer23| 10,838 10,838 0
01 AtR2t2|HI 10,838 10,838 0
OFANERRE 28 S 10,838
CAIHE AR XA 400,000 400,000 0
306 E¢= 400,000 400,000 0
01 £g= 400,000 400,000
OEAIHMXIZHEH 2 400,000
CAITHEALS 88,626,000 76,402,800 12,223,200
s 74,672,000
== 13,954,000
403 MR SHHMSAH=01H 88,626,000 76,402,800 12,223,200
= 74,672,000
[ 13,954,000
01 A= 2L 88,626,000 76,402,800 12,223,200
O AITHEAIS 88,626,000
[ 74,672,000
= 13,954,000
CAZESIXN AN (ATFE THEAIY) 600,000 600,000
= 500,000
= 100,000
403 X SHHMSAH=01H 600,000 600,000
s 500,000
== 100,000
01 A= 2L 600,000 600,000 0
OE A EHHIAI 600,000
= 500,000
< 100,000
XS 3200 600,000 0 600,000
e B MoHE 600,000 0 600,000
403 AXIEHHSAH=201d 600,000 0 600,000
01 XIS A=E £ 600,000 0 600,000
OJEd BIE THong 600,000
SENE SFE 8,936,200 7,19%,69% 1,739,504
[ 6,874,000
= 2,062,200
STE B3 EYI 8,936,200 7,196,69% 1,739,504
[ 6,874,000
= 2,062,200
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=cl0lE MelX# 8,936,200 7,19%6,69% 1,739,504
= 6,874,000
== 2,062,200
403 MR HHMSAHE01H 8,936,200 7,19%,69% 1,739,504
= 6,874,000
< 2,062,200
01 A= 2L 8,936,200 7,196,696 1,739,504
O=20IE H™el Arg 8,936,200
[ 6,874,000
= 2,062,200
HRES(ASZAIDN) 3,365,417 3,072,838 292,579
WHEHHXIZ(H=ZAID) 700,000 700,000 0
NEoHells o= Olktatet 700,000 700,000 0
705 Ol==dclsdE 700,000 700,000 0
04 Al - EXISHED IS0~z 0 Ktad &t 700,000 700,000 0
OBYE ¢ &= = 23 700,000
SHENE(A=ZAID) 2,665,417 2,372,838 292,579
gretsoIEt 2,103,817 2,114,918 211,101
802 gtetsJIEt 2,103,817 2,114,918 A11,101
03 DIEtEtE =S 2,103,817 2,114,918 A11,101
So|EFERSAY BR2E4 234
Al gt 2,003,817
SOl EFUNSAY BXBE4 01T+
AZ gre 00,000
NH(Set=28012 XHs) O1Xae 561,600 257,920 303,680
311 XS0l Aratat 561,600 257,920 303,680
02 Sat=8)2 XY =0lAHate 561,600 257,920 303,680
OS2 O g=8 =2 23 270,000
O AITHAE A 291,600
HY2LZH(ASZAIL) 83,880 83,880 0
J23HI(A=ZAID) 83,880 83,880 0
Jl2ZH(A=ZAID) 83,880 83,880 0
201 ger=3| 39,780 39,780 0
01 At 2|l 39,780 39,780 0
OASTA PR 39,780
202 04| 39,780 39,780 0
01 SLHo4H 30,780 39,780 0
OAHTA PR 30,780
203 HR=H| 4,320 4,320
M EAEgER=A 4,320 4,320
OAFTAILL 4,320




